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TOTAL NO. GFBLOCK A = 11 NOS. . 1
TOTALCOVD.AREA =11x1320
TOTAL COVD., AREA -umqgr& v v
BLOCK B = 60-9"x30-0"
= 182290 SQFT. OR
202.50 8Q YDS.
TOTAL NO. OF BLOCK B = 17 NOS.
TOTAL COVD. AREA =17 x 1822.50
TOTAL COVD. AREA = 30982.50 SQ FT
OR 3442.50 SQ

BLOCK C = 30-0"x30-0"
=900 3QFT. R
1008Q YDS.
TOTAL NO. OF BLOCK A = 142 NOS.
TOTAL COVD. AREA  =142x 900
TOTAL COVD. AREA = 127800 SQFT

OR 14200 SQ
BLOCK D = 29'3"x20-0" BLOCKE =30-0"x58'6"
=585 SQFT. OR =1755.0 SQFT. OR
65SQYDS. 195.09Q YDS.
TOTAL NO. OF BLOCK A =65 NOS. TOTAL NO. OF BLOCK A =2 NOS.
TOTAL COVD.AREA  =65x385 TOTAL COVD.AREA  =2x 1755
TOTAL COVD.AREA = 38025.00 SQFT TOTAL COVD. AREA = 3510SQFT
OR 4225 SQ OR 390 SQ YDS.
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